Data Dictionary: San Mateo, Santa Clara, and Santa Cruz survey data files

(survey1.asc, survey2.asc, and survey3.asc)


Variable Name:  MasterID
Description: This variable uniquely identifies each population member.  (Only sample members are included in the data files.)  It is a ten-digit numeral that was created in accordance with the ASPE guidelines.  The first two digits are the state FIPS code for California (06) and the next two digits are 01 (to designate the San Mateo/Santa Clara/Santa Cruz survey).  The final six digits are a numeral assigned sequentially after sorting the data by a random number.

Data Limitations:  This identifier is specific to this data file and does not bear any relationship to CalWORKs case numbers or other identifiers used in county administrative records.  Such identifiers have been intentionally excluded from the data file in order to protect the confidentiality of the population members.

Variable Name:  County

Description:  This is the county the case was in when it qualified for inclusion in the population.

Allowable Values and Formats: 
41 = San Mateo County

43 = Santa Clara County

44 = Santa Cruz County
Variable Name:  Subpop

Description:  Identifies the subpopulation the case is in.

Allowable Values:  
1 = 1-Parent Leaver

2 = 2-Parent Leaver

3 = Denied Applicant




4 = Housing

Variable Name:  Exitmnth

Description:  This is the calendar month during which the event occurred that caused the case to become a member of the population.  For the leaver subpopulations (Subpop = 1, 2), it is the first month off cash aid.  For the informally diverted subpopulation (Subpop = 3), it is the month that the application for cash aid was denied.  The housing subpopulation (Subpop = 4) was defined as families in public housing in January 1999, so for this subpopulation Exitmnth is always equal to 011999.

Allowable Values:  Values are in the format MMYYYY, where YYYY is the year and MM is the month.  For the cash aid subpopulations (Subpop = 1, 2, or 3), legal values are 101998, 111998, and 121998.  For the housing subpopulation (Subpop = 4), the only legal value is 011999.
Variable Name:  Trans

Description:   This is a binary variable that indicates whether cash aid leavers were cases where the entire case left cash aid (“true leavers”) or cases where all the adults left cash aid but at least one child remained active (transitions to child-only status).  It is not applicable to subpopulations 3 (cash aid application denied) and 4 (housing).

Allowable Values and Formats:
 0 = Entire case leaves aid (“true leaver”)

 1 = Transition to child-only status

-9 = Not applicable (i.e., Subpop = 3 or 4)

Variable Name:  Sample
Description:  This is a binary variable that indicates whether or not each population member was selected to be a member of the sample.  The files include records for sample members only.

Allowable Values and Formats: 
0 = Not in the sample






1 = In the sample
Variable Name:  weight1 (weight2, weight3)
Description:  Respondent population weight.  

Data Limitations:  Valid only for a period-based analysis.  Data need to be analyzed by time-period rather than by interview number to use the weights.

Allowable Values:  Continuous

Variable Name:  period1 (period2, period3)

Description:  Time period in which the first (second/third) interview occurred, relative to exit/denial/transition month.

Allowable Values and Formats: 

1 = First (second/third) interview occurred 6-11 months after exit/denial/transition

2 = First (second/third) interview occurred 12-17 months after exit/denial/transition

2 = First (second/third) interview occurred 18-23 months after exit/denial/transition

Variable Name:  respond1 (respond2, respond3)

Description:  First (second/third) interview respondent.

Allowable Values and Formats: 
0 = Did not complete first (second) interview

1 = Completed first (second) interview

Variable Name:   Adult1 through Adult10 (W2Adult1 - W2Adult10, W3Adult1 – W3adult10)

Description:  Binary variables indicating the presence in the household of an adult, in the position indicated by the relationship code variables, series Q12_01 through Q12_10.

Adult1 through Adult10 are created using the same code structure.  These are intermediate variables used to construct N_adults.

SAS Code:    If q12_01 ge 1 then adult1 = 1;

                        Else adult1 = 0;
Data Limitations:  Adult1 through Adult10 are based on the relationship code variables.  Where the relationship code variables have missing values, Adult1 through Adult10 are assigned a value of zero, which could lead to underrepresention of the number of adults in households.

Allowable Values and Formats:  0 = No

                                                       1 = Yes 

Variable Name:  CashAid (W2CashAid, W3CashAid)

Description:  CashAid is equal to Q67B, if it is not missing.  In cases where Q67B is missing, the value indicated by Q69B is substituted for the missing value.  If Q69B is also missing, the value of CashAid is set equal to the median of Q67B.

Allowable Values and Formats:   Continuous

Variable Name:  CashIncome (W2CashIncome, W3CashIncome)

Description:  The total household income derived from cash sources in the month prior to interview.  CashIncome is an intermediate variable used to construct ExcessRent.

SAS Code:  cashincome = sum (earned, cashaid, ssdi, ss_ret, fc_pay, unemp, workcomp,

                       childsup, famfrnds, otrsrcs);

Allowable Values and Formats:   Continuous

Variable Name:  CC_outpock (W2CC_outpock, W3CC_outpock)

Description:  A binary variable that indicates if the respondent had out-of-pocket childcare expenses in the month prior to interview.

SAS Code:  If q33 gt 0 or q34 ge 1 then cc_outpock =1;

                         Else if q33 = 0 then cc_outpock = 0;

                         Else if q33 le .Z then cc_outpock = q33;
Allowable Values and Formats:  0 = No OOP CC Expense

                                                       1 = Has OOP CC Expense

Variable Name:  Changed (W2Changed, W3Changed)

Description:  Binary variable that indicates if the respondent changed childcare providers in the six months prior to interview.

SAS Code:  If q14=1 and FC_Age le 13 then do;

                         If q28 gt 0 then changed = 1;

                           Else if q28 = 0 then changed = 0;

                           Else if q28 le .Z then changed = q28;

                       End;

                       Else changed = .D;
Allowable Values and Formats:  0 = No

                                                       1 = Yes

Variable Name:  ChildProb (W2ChildProb, W3ChildProb)

Description:  Indicates if full-time work would create a problem with regard to monitoring children’s well-being while respondent is at work.

SAS Code:  If q14=1 then do;

                         If q63a=1 then childprob=0;

                           Else if q63a=2 then childprob=1;

                           Else If q63a=3 or q63a=4 then childprob=2;

                           Else childprob = .E;

                       End;

                       Else childprob = .D;
Allowable Values and Formats:  0 = Not A Problem

                                                       1 = A Small Problem

                                                       2 = A Big Problem

Variable Name:  ChildSup (W2ChildSup, W3ChildSup)

Description:  ChildSup is equal to Q68K, if it is not missing.  In cases where Q68K is missing, the value indicated by Q69K is substituted for the missing value.  If Q69K is also missing, the value of ChildSup is set equal to the median of Q68K.

Allowable Values and Formats:   Continuous

Variable Name:  Crowding (W2Crowding, W3Crowding)

Description:  A binary variable which indicates if the ratio of persons to rooms (excluding kitchens, hallways, and bathrooms) in the house is less than 1.

SAS Code:     If crowding2 le .Z then crowding = crowding2;

                         Else if crowding2 gt 1 then crowding = 1;


            Else if crowding2 le 1 then crowding = 0;

Allowable Values and Formats:  0 = No

                                                       1 = Yes

Variable Name:  Crowding2 (W2Crowding2, W3Crowding2)

Description:  The ratio of persons to rooms (excluding kitchens, hallways, and bathrooms) in the house.  Crowding2 is an intermediate variable used to construct Crowding.

SAS Code:  If q9 le .Z then crowding2 = .E;

                      Else if q72 le .Z then crowding2 = .E;

                      Else crowding2 = (q9 / q72);

Allowable Values and Formats:   Continuous

Variable Name:  Current (W2Current, W3Current)

Description:  Current measures the respondent’s current work status.  Current is an intermediate variable used to construct Work.

SAS Code:  If q46a le .Z and q46b le .Z and q46c le .Z then current = .E;

                         Else if q46a = 1 then current = 2;

                         Else if q46b = 1 then current = 1;

                         Else if q46c = 1 and max(q47_1, q47_2, q47_3) ge 30 then current = 2;

                         Else if q46c = 1 and 1<= max(q47_1, q47_2, q47_3) <= 29 then current = 1;

                         Else current = 0;
Allowable Values and Formats:  0 = Not Currently

                                                       1 = Currently PT

                                                       2 = Currently FT

Variable Name:  CurrJobs (W2CurrJobs, W3CurrJobs)

Description:  CurrJobs indicates the number of jobs currently held by the respondent.  CurrJobs is an intermediate variable used to create JobIns.

SAS Code:  Array Q47_[9] Q47_1 Q47_2 Q47_3 Q47_4 Q47_5 Q47_6 Q47_7 Q47_8 Q47_9;

                       Select;

                          When (Q46A <= .Z or Q46B <= .Z or Q46C <= .Z)  currjobs = .E;

                          When (Q46A + Q46B + Q46C = 0)                  currjobs =  0;

                          When (Q46A + Q46B + Q46C = 1)  Do;

                            currjobs = 0;

                       Do I = 1 to 9;

                        If Q47_[I] > 0 or Q47_[I] in (.A,.C)  then currjobs = Min(currjobs + 1, 2);

                       End;

                       End;

                       When (Q46A + Q46B + Q46C > 1)                  currjobs =  2;   * 2 or more;

                       End;

Allowable Values and Formats:  0 = None

                                                       1 = One

                                                       2 = Two or more

Variable Name:  DomViol (W2DomViol, W3DomViol)

Description:  Indicates if the respondent has been mentally or physically abused by anyone close to him/her in the six months prior to interview.

SAS Code:  If q89c = 1 or q89d = 1 or q89e = 1 then  domviol = 1;

                         Else if q89c = 0 and q89d =  0 and q89e = 0 then domviol = 0

                         Else domviol = .E;

Allowable Values and Formats:  0 = No Violence

                                                       1 = Violence

Variable Name:  Earned (W2Earned, W3Earned)

Description:  Earned is equal to Q68A, if it is not missing.  In cases where Q68A is missing, the value indicated by Q69A is substituted for the missing value.  If Q69A is also missing, the value of Earned is set equal to the median of Q68A, stratified by Q68a_1.  (Note:  Categories 1 and 3 of Q68a_1 are collapsed for this purpose).

Allowable Values and Formats:   Continuous

Variable Name:  EITC (W2EITC, W3EITC)

Description:  Indicates if the respondent is aware of the EITC, and if he/she used it on the previous federal or state tax return.

SAS Code:  If q65 le .Z then eitc = q65;

                         Else if q65 = 0 then eitc = 0;

                         Else if q65 = 1 and q66 = 0 then eitc = 1;

                         Else if q65 = 1 and q66 = 1 then eitc = 2;

                         Else if q65 = 1 and q66 le .Z then eitc = .E;

Allowable Values and Formats:  0 = Never Heard, Didn’t Use

                                                       1 = Heard, Didn’t Use

                                                       2 = Heard, Used

Variable Name:  Ever (W2Ever, W3Ever)

Description:  Indicates if the respondent has been employed in the six months prior to interview.   Ever is an intermediate variable used to construct Work.

SAS Code:  If current le .Z and recent le .Z and q48_ le .Z and q48_2 le .Z and q48_3     

                         le .Z then ever = .E;

                         Else if current = 2 or recent = 2 or q48_ = 1 then ever = 3;

                         Else if current = 1 or recent = 1 or q48_2 = 1 then ever = 2;

                         Else if q48_3 = 1 then ever = 1;

                         Else ever = 0;

Allowable Values and Formats:  0 = Never

                                                       1 = Ever Odd

                                                       2 = Ever PT

                                                       3 = Ever FT

Variable Name:  ExcessRent (W2ExcessRent, W3ExcessRent)

Description:  Indicates if the respondent’s rent is greater than 50% of the total household cash income.

SAS Code:  If tothouse le .Z then excessrent = tothouse;

                         Else if cashincome = 0 then excessrent = .D;

                         Else if (tothouse/cashincome) gt .5 then excessrent = 1;

                         Else excessrent = 0;

Allowable Values and Formats:  0 = No

                                                       1 = Yes

Variable Name:  ExFam (W2ExFam, W3ExFam)

Description:  Indicates if the respondent’s household structure could be characterized as an extended family.  ExFam is an intermediate variable used to construct HH.

SAS Code:  If q9 gt 1 then do;

                         If ((3<q12_02<22)or (3<q12_03<22)or (3<q12_04<22)or 

                             (3<q12_05<22)or (3<q12_06<22)or (3<q12_07<22)or

                             (3<q12_08<22)or (3<q12_09<22)or (3<q12_10<22)) 

                          then exfam=1;

                          Else exfam = 0;

                         End;

                         Else exfam = 0;

Allowable Values and Formats:  0 = No

                                                       1 = Yes

Variable Name:  FamFrnds (W2FamFrnds, W3FamFrnds)

Description:  FamFrnds is equal to Q68L, if it is not missing.  In cases where Q68L is missing, the value indicated by Q69L is substituted for the missing value.  If Q69L is also missing, the value of FamFrnds is set equal to the median of Q68L.

Allowable Values and Formats:   Continuous

Variable Name:  FC_pay (W2FC_pay, W3FC_pay)

Description:  FC_pay is equal to Q68H, if it is not missing.  In cases where Q68H is missing, the value indicated by Q69H is substituted for the missing value.  If Q69H is also missing, the value of FC_pay is set equal to the median of Q68H.

Allowable Values and Formats:   Continuous

Variable Name:  FdStamps (W2FdStamps, W3FdStamps)

Description:  FdStamps is equal to Q68C, if it is not missing.  In cases where Q68C is missing, the value indicated by Q69C is substituted for the missing value.  If Q69C is also missing, the value of FdStamps is set equal to the median of Q68C.

Allowable Values and Formats:   Continuous

Variable Name:  Focal_hrs (W2Focal_hrs, W3Focal_hrs)

Description:  Indicates the number of hours the respondent works at his/her focal job.  Focal_hrs is an intermediate variable used to construct Hourly_Wage.

SAS Code:  If work ge 2 then do;

                         If q47_1 gt 0 or q47_2 gt 0 or q47_3 gt 0 or q47_4 gt 0 or q47_5 gt 0

                         or q47_6 gt 0 or q47_7 gt 0 or q47_8 gt 0 or q47_9 gt 0 then 

                         focal_hrs = max (q47_1, q47_2, q47_3, q47_4, q47_5, q47_6,

                         q47_7, q47_8, q47_9);

                         Else if q50_1 gt 0 or q50_2 gt 0 or q50_3 gt 0 or q50_4 gt 0 or q50_5

                         gt 0 or q50_6 gt 0 or q50_7 gt 0 or q50_8 gt 0 or q50_9 gt 0 then 

                         focal_hrs = max (q50_1, q50_2, q50_3, q50_4, q50_5, q50_6, 

                         q50_7, q50_8, q50_9);

                       End;

                       Else focal_hrs = .D;

Allowable Values and Formats:   Continuous

Variable Name:  FoodStamps (W2FoodStamps, W3Foodstamps)

Description:  Indicates the respondent’s eligibility for and receipt of foodstamps.

SAS Code:  If qualifies = 0 then foodstamps = 0;

                         Else if qualifies = 1 and q64 = 0 then foodstamps = 1;

                         Else if q64 = 1 then foodstamps = 2;

Allowable Values and Formats:  0 = Ineligible

                                                       1 = Eligible, Not Receiving

                                                       2 = Receiving

Variable Name:  FPov (W2FPov, W3FPov)

Description:  FPov is calculated by household size (Q9).  For each value of Q9, total household income is divided by the appropriate figure from the federal poverty guidelines.

Allowable Values and Formats:   Continuous

Variable Name:  HH (W2HH, W3HH)

Description:  Indicates the household structure the respondent’s household is best characterized as having.

SAS Code:  If nokids = 1 then hh = 0;

                         Else if multfam = 1 then hh = 4;

                         Else if exfam = 1 then hh = 3;

                         Else if twoparnt = 1 then hh = 2;

                         Else if twoparnt = 0 then hh = 1;

                         Else if twoparnt le .Z then hh = twoparnt;

Allowable Values and Formats:   0 = Not Living with Kids

                                                        1 = One-parent

                                                        2 = Two-parent

                                                        3 = Extended Family

                                                        4 = Multi-family

Variable Name:  HlthyFam (W2HlthyFam, W3HlthyFam)

Description:  Indicates if a child is insured through the Healthy Families program.

SAS Code:  Else if q14=1 and q17=1 then do;

 Array q17a_[12] q17a_01-q17a_12;

  Do I=1 to totkids;

   If q17_[I] = 0 then unins = sum(unins, 1);

   Else If q17a_[I]= 1 then medical  = sum(medical, 1);

   Else If q17a_[I]= 2 then hlthyfam = sum(hlthyfam, 1);

   Else If q17a_[I] in (3, 4) then privgov = sum(privgov, 1);

 End;

End;

Allowable Values and Formats:  0 = No

                                                       1 = Yes

Variable Name:  Hourly_wage (W2Hourly_wage, W3Hourly_wage)

Description:  Indicates the hourly wage of the respondent at his/her focal job.

SAS Code:  If work ge 2 then do;

                         hourly_wage = q55_hrwg;

                           If hourly_wage le .Z then do;

                             If q55_unit = 1 then hourly_wage = q55_amt/8;

                                Else if q55_unit = 2 then hourly_wage = q55_amt/focal_hrs;

                                Else if q55_unit = 3 then hourly_wage = q55_amt/(focal_hrs*4.3);

                                Else if q55_unit = 4 then hourly_wage = q55_amt/(focal_hrs*52);

                                Else if q55_unit le .Z then hourly_wage = q55_unit;

                              End;

                           End;

                           Else hourly_wage = .B;

Allowable Values and Formats:   Continuous

Variable Name:  HouseQual (W2HouseQual, W3HouseQual)

Description:  Indicates if the quality of the respondent’s housing is sub-standard.

SAS Code:  If N (q79a, q79b, q79c) = 0 then housequal=.E;

                       If q70 le 5 then do;

                         housequal = ((Q79a=1)or (Q79b=1)or (Q79c=1));

                       End;

Allowable Values and Formats:  0 = Standard

                                                       1 = Sub-standard

Variable Name:  Insecurity (W2Insecurity, W3Insecurity)

Description:  Indicates if there have been times in the previous six months when there was not enough food to eat in the respondent’s household.

SAS Code:  If q80=1 then insecurity=0;

                         Else if q80=2 or q80=3 then insecurity=1;

                         Else if q80 le .Z then insecurity=q80;

Allowable Values and Formats:  0 = No Insecurity

                                                       1 = Insecurity

Variable Name:  JbTravel (W2JbTravel, W3JbTravel)

Description:  Indicates if full-time work would create a problem with regard to transportation to and from work.
SAS Code:  If q63b=1 then jbtravel=0;

                         Else if q63b=2 then jbtravel=1;

                         Else if q63b=3 or q63b=4 then jbtravel=2;

                         Else jbtravel = .E;

Allowable Values and Formats:  0 = Not A Problem

                                                       1 = A Small Problem

                                                       2 = A Big Problem

Variable Name:  JobIns (W2JobIns, W3JobIns)

Description:  Indicates if the respondent and any of his/her children are insured through the respondent’s job. 

SAS Code:  If currjobs = 0 then jobins = .B;

                         Else if q51c le .Z and q51d le .Z then jobins = .E

                         Else if q51c=0 and q51d=0 then jobins=0;

                         Else If q51c=0 and q51d=1 then jobins=1;

                         Else if q51c=1 and q51d=0 then jobins=2;

                         Else if q51c=1 and q51d=1 then jobins=3;

Allowable Values and Formats:  0 = No Insurance

                                                       1 = Child Only

                                                       2 = Self Only

                                                       3 = Both

Variable Name:  Kid1 through Kid12 (W2Kid1 – W2Kid12, W3Kid1 – W3Kid12)

Description:  Binary variables indicating the presence in the household of an child, in the position indicated by the relationship code variables, series Q1601 through Q1612.  Kid1 through Kid12 are created using the same code structure.  These are intermediate variables used to construct TotKids.

SAS Code:  If q1601 ge 1 or q1601 in (.a, .c) then kid1=1;

                         Else kid1=0;

Allowable Values and Formats:  0 = No

                                                       1 = Yes 

Variable Name:  LoseBens  (W2LoseBens, W3LoseBens)

Description:  Indicates if full-time work would create a problem with regard to loss of public benefits.
SAS Code:  If q63c=1 then losebens=0;

                         Else if q63c=2 then losebens=1;

                         Else if q63c=3 or q63c=4 then losebens=2;

                         Else losebens = .E;

Allowable Values and Formats:  0 = Not A Problem

                                                       1 = A Small Problem

                                                       2 = A Big Problem

Variable Name:  MediCal (W2MediCal, W3MediCal)

Description:  See description, coding, and values for HlthyFam.

Variable Name:  MultFam (W2MultFam, W3MultFam)

Description:  Indicates if the respondent’s household structure could be characterized as multiple family.  MultFam is an intermediate variable used to construct HH.  

SAS Code:  If q9 gt 1 then do;

                         If ((q12_02 ge 22) or (q12_03 ge 22) or (q12_04 ge 22) or (q12_05 ge 22)   

                         or (q12_06 ge 22) or (q12_07 ge 22) or (q12_08 ge 22) or (q12_09 ge 22) 

                         or (q12_10 ge 22))  then multfam = 1;

                       End;

                       Else multfam = 0;
Allowable Values and Formats:  0 = No

                                                       1 = Yes

Variable Name:  N_adults (W2N_adults, W3N_adults)

Description:  N_adults is the number of adults in the household, including the respondent.  N_adults is an intermediate variable used to construct SubAbuse.

SAS Code:  n_adults = ((adult1 + adult2 + adult3 + adult4 + adult5 + adult6 + adult7 + adult8 +

                                          adult9 + adult10) + 1);

Allowable Values and Formats:   Continuous

Variable Name:  NoKids (W2NoKids, W3NoKids)

Description:  NoKids is a binary variable which indicates if there are no children living in the respondent’s household for whom he/she is responsible.  NoKids is an intermediate variable used to construct HH.

SAS Code:  If q9 gt 1 then do;

                         If q14=0 then nokids=1;

                            Else if q14 le .Z then nokids = q14;

                            Else nokids=0;

                         End;

                         Else nokids = 1;

Allowable Values and Formats:   0 = Respondent has kids in household

                                                        1 = Respondent does not have kids in household
Variable Name:  OtrSrcs (W2OtrSrcs, W3OtrSrcs)

Description:  OtrSrcs is equal to Q68M, if it is not missing.  In cases where Q68M is missing, the value indicated by Q69M is substituted for the missing value.  If Q69M is also missing, the value of OtrSrcs is set equal to the median of Q68M.

Allowable Values and Formats:   Continuous

Variable Name:  Primary (W2Primary, W3Primary)

Description:  Primary indicates the type of childcare that is the primary childcare arrangement for focal children under the age of 14.

SAS Code:  If q14=0 or FC_Age ge 14 then primary = .B;

                         Else if N(q24a, q24b, q24c, q24d, q24e, q24f) = 0 then primary = .D;

                         Else if sum (q24a, q24b, q24c, q24d, q24e, q24f) = 1 then do;

                           If q24a = 1 then primary = 1;

                             Else if q24b = 1 then primary = 2;

                             Else if q24c = 1 then primary = 3;

                             Else if q24d = 1 then primary = 4;

                             Else if q24e = 1 then primary = 5;

                             Else if q24f = 1 then primary = 6;

                          End;

                       Else if sum(q24a, q24b, q24c, q24d, q24e, q24f) gt 1 and q26 = 0 

                                          then primary = q26b;

                       Else if sum(q24a, q24b, q24c, q24d, q24e, q24f) gt 1 then do I = 1 to 6;

                         If q25[I] = max(q25a, q25b, q25c, q25d, q25e, q25f) then primary = I;

                       End;

                       Else if sum(q24a, q24b, q24c, q24d, q24e, q24f) eq 0  then primary = .D;

Allowable Values and Formats:  1 = Head Start

                                                       2 = Formal Daycare

                                                       3 = Extended Day

                                                       4 = Adult Relative

                                                       5 = Family Daycare/Babysitter

                                                       6 = Non-adult Relative

Variable Name:  PrivGov (W2PrivGov, W3PrivGov)

Description:  See description, coding, and values for HlthyFam.

Variable Name:  ProbKid (W2ProbKid, W3ProbKid)

Description:  ProbKid indicates if focal children ages 5 and up have engaged in a variety of risk behaviors in the previous six months.

SAS Code:  If q14=0 or FC_Age le 4 then probkid = .B;

                         Else if q14=1 and FC_Age ge 5 then do;

                           If N  (of q23a—q23f) =  0 then probkid = .E;

                             Else if sum(of q23a—q23f) =  0 then probkid = 0;

                             Else if sum(of q23a—q23f) =  1 or sum(of q23a—q23f)= 2 then probkid=1;

                             Else if sum(of q23a—q23f) ge 3 then probkid = 2;

                           End;

Allowable Values and Formats:  0 = No Risk

                                                       1 = Low Risk

                                                       2 = High Risk

Variable Name:  PubHouse (W2PubHouse, W3PubHouse)

Description:  Indicates if respondents who are not homeowners or homeless receive any type of public housing assistance.

SAS Code:  If q70 ne 1 and q70 le 5 then do;

                          If q70 le .Z then pubhouse = q70;

                            Else pubhouse = Q76=1 or Q77=1;

                        End;

                        Else pubhouse = .E;

Allowable Values and Formats:  0 = No Assistance

                                                       1 = Receives Assistance

Variable Name:  Recent (W2Recent, W3Recent)

Description:  Indicates if the respondent has been employed in the previous six months, and if so, indicates if it was full-time or part-time employment.  Recent is an intermediate variable used to construct Work.

SAS Code:  If current le .Z and q49_ le .Z and q49_2 le .Z and q49_3 le .Z then recent = .E;

                         Else if current = 2 or q49_ = 1 then recent = 2;

                         Else if current = 1 or q49_2 = 1 then recent = 1;

                         Else if q49_3 = 1 and max (q50_1, q50_2, q50_3) ge 30 then recent = 2;

                         Else if q49_3 = 1 and 1<= max (q50_1, q50_2, q50_3) <= 29 then recent = 1;

                         Else recent = 0;     

Allowable Values and Formats:  1 = Worked Part-time

                                                       2 = Worked Full-time 
Variable Name:  Refugee (W2Refugee, W3Refugee)

Description:  Refugee is equal to Q68E, if it is not missing.  In cases where Q68E is missing, the value indicated by Q69E is substituted for the missing value.  If Q69E is also missing, the value of Refugee is set equal to the median of Q68E.  

Note:  No respondents indicated receipt of refugee assistance.

Allowable Values and Formats:   Continuous

Variable Name:  Relation (W2Relation, W3Relation)

Description:  Indicates if the respondent is married, in a domestic partnership, or neither.

SAS Code:  If ((1 le q12_01 le 2) or (1 le q12_02 le 2) or (1 le q12_03 le 2) or 

                           (1 le q12_04 le 2) or (1 le q12_05 le 2) or (1 le q12_06 le 2) or 

                           (1 le q12_07 le 2) or (1 le q12_08 le 2) or (1 le q12_09 le 2) or 

                           (1 le q12_10 le 2)) then relation = 1;

                       Else if ((q12_01 = 3) or (q12_02 = 3) or (q12_03 = 3) or (q12_04 = 3) or

                                   (q12_05 = 3) or (q12_06 = 3)  or (q12_07 = 3) or (q12_08 = 3) or 

                                   (q12_09 = 3) or (q12_10 = 3)) then relation = 2; 

                       Else relation = 3;

Allowable Values and Formats:  1 = Married

                                                       2 = Partnership

                                                       3 = Other

Variable Name:  Rent (W2Rent, W3Rent)

Description:  Rent indicates the amount of rent paid by the respondent’s household. ? Rent is an intermediate variable used to construct TotHouse.

SAS Code:  If q70 <=.Z then rent=q70;

                         Else if q70 le 2 then rent = q74;

                         Else if q70 ge 3 then rent = 0;

Allowable Values and Formats:   Continuous

Variable Name:  RInsured (W2Rinsured, W3Rinsured)

Description:  Indicates if the respondent has health insurance, and if so, the type of insurance that they have.

SAS Code:  If q86 le .Z then rinsured = q86;

                         Else if q86 = 0 then rinsured = 0;

                         Else if q86 = 1 then do;

                           If q86a = 1 or q86a = 2 then rinsured = q86a;

                             Else if q86a = 3 or q86a = 4 then rinsured = 3;

                         End;

Allowable Values and Formats:  0 = Not Insured

                                                       1 = Medi-Cal, Medicaid

                                                       2 = Medicare

                                                       3 = Private/Gov’t

Variable Name:  SSDI (W2SSDI, W3SSDI)

Description:  SSDI is equal to Q68F, if it is not missing.  In cases where Q68F is missing, the value indicated by Q69F is substituted for the missing value.  If Q69F is also missing, the value of SSDI is set equal to the median of Q68F.

Allowable Values and Formats:   Continuous

Variable Name:  SS_ret (W2SS_ret, W3SS_ret)

Description:  SS_ret is equal to Q68G, if it is not missing.  In cases where Q68G is missing, the value indicated by Q69G is substituted for the missing value.  If Q69G is also missing, the value of SS_ret is set equal to the median of Q68G.

Allowable Values and Formats:   Continuous
Variable Name:  SubAbuse (W2SubAbuse, W3SubAbuse)

Description:  Subabuse indicates if the respondent or any other adult in the household has a problem with alcohol or drugs.

SAS Code:  If q89a = 1 or q89f = 1 then subabuse = 1;

                         Else if n_adults le 1 then subabuse = q89a;

                         Else if n_adults gt 1 then do;

                           If q89f = 0 then subabuse = 0;

                             Else subabuse = .E;

Allowable Values and Formats:  0 = No Abuse

                                                       1 = Abuse

Variable Name:  TotFlag (W2TotFlag, W3TotFlag)

Description:  TotFlag denotes observations which have values imputed to any components of TotIncome.

SAS Code:  totflag = Flag_earned or Flag_cashaid or Flag_fdstamps or Flag_wic or Flag_ssdi

                                    or Flag_ss_ret or Flag_fc_pay or Flag_unemp or Flag_workcomp or

                                    Flag_childsup or Flag_famfrnds or Flag_otrsrcs; 

Allowable Values and Formats:  0 = No imputed values

                                                       1 = Imputed values
Variable Name:  TotHouse (W2TotHouse, W3TotHouse)

Description:  Tothouse is the sum of the household rent and utility costs.  TotHouse is an intermediate variable used to construct ExcessRent.

SAS Code:  If N (rent, utilities) <= 1 then tothouse = .E;

                         Else tothouse = sum (rent, utilities);

Allowable Values and Formats:   Continuous
Variable Name:  TotIncom (W2TotIncom, W3TotIncom)

Description:  TotIncom is the sum of household income from all sources.

SAS Code:  totincom = sum (earned, cashaid, fdstamps, wic, ssdi, ss_ret, fc_pay, unemp,

                                                  workcomp,  childsup, famfrnds, otrsrcs);

Allowable Values and Formats:   Continuous
Variable Name:  TotKids (W2TotKids, W3TotKids)

Description:  TotKids is the total number of children living in the household for whom the respondent is responsible.  TotKids is an intermediate variable used to calculate the percentages of children insured within each insurance category.

SAS Code:  totkids = (kid1+ kid2+ kid3+ kid4+ kid5+ kid6+ kid7+ kid8+ kid9+ kid10+ kid11+              

                                      kid12);

Allowable Values and Formats:   Continuous
Variable Name:  TwoParnt (W2TwoParnt, W3TwoParnt)

Description:  TwoParnt denotes if the household can be characterized as a two-parent household.  TwoParnt is an intermediate variable used to construct HH.

SAS Code:  If q14 = 0 then twoparnt = .B;

                         Else if q14 = 1 then do;

                           If ((1 LE q12_01 LE 3)or (1 le q12_02 LE 3)or (1 le q12_03 LE 3)or 

                               (1 le q12_04 LE 3)or(1 le q12_05 LE 3) or   (1 le q12_06 LE 3)or 

                               (1 le q12_07 LE 3) or (1 le q12_08 LE 3)) then twoparnt = 1;  

                         Else If ((q12_01 le .Z)and (q12_02 le .Z)and (q12_03 le .Z)and (q12_04  le .Z)and

                                     (q12_05 le .Z)and (q12_06 le .Z)and (q12_07 le .Z)and

                                     (q12_08 le .Z)and (q12_09 le .Z) and (q12_10 le .Z)) 

                         then twoparnt = 0;

                         Else twoparnt = 0;

                         End;

Allowable Values and Formats:  0 = One Parent

                                                       1 = Two Parent

Variable Name:  Unemp (W2Unemp, W3Unemp)

Description:  Unemp is equal to Q68I.  In cases where Q68I is missing, the value indicated by Q69I is substituted for the missing value.  If Q69I is also missing, the value of Unemp is set equal 

to the median of Q68I.

Allowable Values and Formats:   Continuous
Variable Name:  Unins

Description:  See description, coding, and values of HlthyFam.

Variable Name:  Utilities

Description:  Utilities is the total cost of utilities for the household.  Utilities is an intermediate variable used to construct TotHouse.

SAS Code:  If q70 <=.Z then utilities=q70;

                         Else if q70 le 3 then utilities=q75;

                         Else if q70 ge 4 then utilities=0;

Allowable Values and Formats:  Continuous

Variable Name:  Work (W2Work, W3Work)

Description:  Work indicates the respondent’s current work status.  If the respondent is not currently working full-time or part-time, the variable indicates if he/she has or has not worked in the six months prior to interview.

SAS Code:  If current = 2 then work = 5;

                      Else if current = 1 then work = 4;

                      Else if recent = 2 then work= 3;

                      Else if recent = 1 then work = 2;

                      Else if ever ge 1 then work  = 1;

                      Else if ever = 0 then work = 0;

                      Else if current le .Z and ever le .Z and recent le .Z then work       

                      = .E;
Allowable Values and Formats:  0 = Never Worked

                                                       1 = Has Worked




                2 = Recently PT




                3 = Recently FT




                4 = Currently PT




                5 = Currently FT

Variable Name:  WorkComp (W2WorkComp, W3WorkComp)

Description:  WorkComp is equal to Q68J.  In cases where Q68J is missing, the value indicated by Q69J is substituted for the missing value.  If Q69J is also missing, the value of WorkComp is set equal to the median of Q68J.

Allowable Values and Formats:  Continuous

Variable Name:  WIC (W2Wic, W3Wic)

Description:  WIC is equal to Q68D.  In cases where Q68D is missing, the value indicated by Q69D is substituted for the missing value.  If Q69D is also missing, the value of WIC is set equal to the median of Q68D.
Allowable Values and Formats:  Continuous
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